1/odo/dp_ [GeV]]

Ratio to ATLAS

T

7000 GeV pp Z (Drell-Yan)

L | I I I T T T | I I I I T T T I ] 4(2

— 1<

1 & pT(Z) (electron channel, dressed) — %

— s

— —]©

B [T

B BN

107t & —o

— =

— —m

L @

=

107 |

107 £ =Ho

— —0qm

L 1<

- i ey

L w©

o

107* & — 9

= B ATLAS 3 E

—  --{3-- Herwig 7.2.0 default 45

s | —©— MadGraph5 2.6.1.atlas lo s

10 = —&— Pythia 8.301 default Jc

- ¢ Sherpa 1.2.3 default 58

)

75

107 = —= 3

FH ] ] —3°

2 E 42

1 1
0.5 — —0.5

1 1 | 1 1 1 1 1 1 11 | 1 1 1 1 1 1 11 | 1 1

"D (ee) [GeV)



	Contents
	Page 1


